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QUESTION 1

What wilt the code in the screen capture print when executed?

>>> X=4

>>> y=0

>»> 1f(y):

= 5 X=X+2
oy print(x)
.»: €Else:

;o X=X—2
. print(x)

B. 4
C.x
D. An error
E.6

Correct Answer: A

QUESTION 2

Which of the following import statements will add the ability to parse data with regular expressions to your script?
A. from regex import re

B. import re

C. from re import regex

D. import regex

Correct Answer: B

GPYC PDF Dumps | GPYC Exam Questions | GPYC Braindumps 214


https://www.geekcert.com/gpyc.html
https://www.geekcert.com/gpyc.html
https://www.geekcert.com/gpyc.html

VCE & PDF https://lwww.geekcert.com/gpyc.html
2024 Latest geekcert GPYC PDF and VCE dumps Download

GeekCert.com

QUESTION 3

After calling a subprocess in a Python program, the program returns an error code of "0". What does this indicate?
A. The subprocess did not run

B. The subprocess terminated with no errors

C. The subprocess entered an infinite loop condition

D. The subprocess encountered a race condition

Correct Answer: B

QUESTION 4

A connection between a python raw socket server and a netcat client is being made over port 1100 on the same
computer. The last command in the Python terminal is:

>>> connection,remoteip=pyserver.accept()
In the netcat terminal the following 2 lines were typed:

# nc 127.9.8.1 1180 This is a test

What needs to be typed in the python terminal to display the input from the netcat session?
A. Nothing, as the connection is complete

B. connection.recv( 1024)

C. print(remoteip)

D. Nothing, port 1100 is too low to bind the python server to

Correct Answer: D

QUESTION 5

What is the output of the Is(TCP) function?

A. It lists all of the TCP port numbers in a TCP stream
B. It lists all of the packets that have a TCP layer

C. It lists the contents of the TCP layer

D. It lists all of the fields associated with the TCP layer

Correct Answer: A
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